YPaBHeHI/IH NNJIOCKOCTH

Crnioco0 3aanus Bun ypaBHeHus
VpaBHEHHE  IUIOCKOCTH, IIPO- A(x — X, )_|_ B(y ~ Yo )+ C(Z -z, ) -0
Xomguiei yepes TOUYKY
M, (xo , Y0520 ), TIePIEHIUKY - T A B, C

JIIPHO BEKTOPY N = {A,B,C}. |
Bekrop N ={4,B,C} -
HOPMAbHbIU 86€KMOP TIII0OCKOCTH

Ax+By+Cz+D =0, rne

OO61iee ypaBHEHHE TUIOCKOCTH 5 5 5
A +B " +C” #0

X
—+y+——1,r):[e a,b,c#0

a b c

YpaBHEHHE MIIOCKOCTH
«B OTPE3KAX)

X=X VY=V Z—Z
VpaBHEHHUE MIIOCKOCTH, Xp =X, Yo=Y Z,—z;|=0
NPOXOSAIIEN Yepe3 TPH JaHHbIE X=X Vi—Y, Z3—Z2
TOYKH Ml(xl,yl,zl),
My(x3,12,25), M3(x3,3,23) /M3
M1<A; M,
YpaBHeHue IJIOCKOCTH,

IIPOXOASAIIECH yepes TOYKU

Mi(x,y1,71),  My(x2,2,27), 0
napasuieIbHO BEKTOPY Xp =Xy M=V 2272 =

X=X Y=W Z— 2z

a=(a.,a,,a,) dy a, a,
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